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Section — A |
| | L eaing € caling
. In the following real numbers, wiuch enc 13 aon-lermuinading A

dccimal expansion

T T SATCA EAH Fad (aefie BT

Ncse TS AT OETE @ WS (AAfFe X

il

(a)
(b) =
|
(¢} =
13
(d) 733

Find the correct answer

\ﬁis

(a) anintcger

1J

(b) a rational number
(¢) apnme number

(d) an irrational number

2% SIACH! W ST
7 9

(a) &G M

(b) <«f=g muT
(c) cafere s
jd) i TR 1)
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BF GAAL @ AN

A7 il

{a) T "1

(b) iz AT
(C) cﬁﬁ@? ==
(d) THETTY ST

3;  Sumyof the zeros of the cubie palynomual 1
Plc) = 3x — Sii Lhx =35
Pix) =3x" — 5¢2 - 11x—3 Fir® TR (74 ’?IT [ SIEL] EEIT"FTE-*-‘-“"I LA
famgts aom 21 P(3) =30 — 5% — 11 —3 43 SRS QIFTee 204
@
(by 11
(¢) 3
il )
Ul} %
4.  Under wha_l-:ﬁndi'ti_ﬂﬁ, rﬂﬁ;s-ﬂ_f 1hequndr§'ti¢-'Equﬂticmrx'l + v+ g = Oowill
be real and unccqual ! |
fr g TS SRR 52+ pir q'= 0 3 50 VB ST W T2
§) 576 RS TSR A2 + pe + q =0 57 T T I ST AT W T
(a) p*-4g="=
(b) p~—4q<0
o) p*—d4q=>0
) pf—dg 20
3 Efﬂﬁtq
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- ‘ . | « arcas of the
I the sides of two similar triangles are 1n the ratio 4:9, thenth

trnangles are in the ratio

. o 2T
T 937 wem oot 733 T 4 - 9 o g™ 6T aiferd =

™ T4
W s fogres T== E’imtﬁ4:9::wmh*§-@§maﬁ'amﬁ'f"

(a) 2:3
(b) 4:9
(c) S81:16
(d) 16:8I

6. Distance between the points (1, 0) and (1. 0) 18

(1,0) T (-1, 0) e 574 X164 543 T = -

(1, 0) o (-1, 0) 7 33 sv1es @y ™

{a) O
b 2
fc) 1
(d) 2

7.  If the angle of elevation of the sun is 45°, then the ratio between the tower
and its shadow 1s

tf spUa 837 (@11 45°, (FUH 951 F8 JTF A0 OH TS 1T

U s SafS @ 45° w oA 93 FF 9 aTe v TS =)
2y |1:1
(b) 1:4/2
(c) \f?_. o
(d) 1:
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8.  Areaof a sector of angle Plin degrees) ot a circle with radius R s

R T™h U@ 251 334 P(oP0) @113 LB Juaerd ofef ©°F

R Imed Yo 2a% 037 P(E) e o0 e g s

II
(a) 180 = 2nR
P \
(b) %0 ™ nR-
(C) 3%,* x 28R

(dV 355 % 27R°

9.  The wickets taken by a bowler in 10 Crnicket matches are as follows

2 6 4 5 0 3 ] 3 2 3
Mode of the data s

AT TR 10 4= el crere wd o4 SIRGA 1y 7T M yas1q ¢

2 6 4 5 0 3 | 3 2 3
oyfxfFe T s T2

10 5 S (A1 2454 (@HIE2 TYH I3 SRE0T YT g

2 6 3 5 0 3 | 3 2 3
TURE TS UL

(a) |

(b) 2
(c)y 3
(d) 3
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10. e . . .

ABY AT 9217 WY BT RS san (orerd TH IS T

S0 1M caae wowe s OMfere s wnanra sy ATt A

|
(a) 6
by 2
(b) 6
|
€ 3
l
(d) :{

| + tan’0

Pl
| = cot-0

11. The value of

"
| = tan<0

~ aNA
| +cot-6 . 3

1

| - tan-6

5 J9¢€ {94 ¥
| +cot-0 -

(a) sec-O
(b) -1
(c) cot’®

(d) tan°6
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12. Three mesallic spheres of radii 6 cm, 8 cm und 10 e respectively are

melted to farm a single solid sphere. The radius of the resulting sphere 15

6 (i, § b anE 10 R, e BRw arga ot meE 43 mpd G
Relld A S | T R 2T 1T

6 o1, B eI a9 10 ffy vl omfl e orireres e WSl S o=t
(ST F90 5ET | gOF TR e Qs w3

(a) 12 em (CETT,) (esifin
{b) 24 cm (CTE.) (e1B1)
(¢} 48 cm {CBM) (b
() 480 ¢m (CEA) (e

Section— B
13. Using Euclid’s division lemma, show that any positive odd integer is of the.

form 44 + | or 4 + 3 where ¢ 15 some intcgcr.

2E[Fud [Mores Fe Jaed ofd oot Al TR CUHTae SgTT Wa
AR dg -+ | AT & + 3 TET T @R A7 TG T

20w furen =fnan R T3 @M (€, O @A G TS T 4q + |
3 4y + 3 Englad (TR q AT TS TET |

14, Which term of the Arithmetie Progression :

3,813, 18, (e is 78

3, 8,13, 18, vy eenn. STHTSE SASITCHTE CHIRTBT 1% 78 7

3,8, 13, 18, vrrreeennn, THIEE AATGTE cols #miz 78 7
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15. Find the coordinates of the point which divides the line segment joining the

points (=1, 7) and (4, —=3) in the ratio 2 : 3

(-1.7) W& (4, -3) faq @R @UNOT 2 : 3 HNTS @19 24 fasErd AR

faefy a1 |

(-1, 7) AT (4. -3) e smowd et waftee 2 : 3 ARG faws ast fasfod

wane Ay F@

16. LCvaluate:

N [y &9 :

817 A @

5 cos260° = 4 sec230° — tan’45°
sin-30° + cos<30°

17. If A, B and C arc interior angles of a triangle ABC. then show that

. [B-C] A
Sin [~ | =¢0s 3.

-

1T A. B &% C @14 @%b1 ABC faged TF:11 T, (SW (YT A -

. (B+C) A
sunlk 5| =cos 3.

ufi ABC fIured I@:@ o A, B a3 C 20 X4 (13 @,
. [B+CJ_‘ A
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18, A box contains 3 blue, 2 white and 4 red marbles. I a marble Is drawn at
random [rom the box, what is the probability that it will be white ? r3

B IFES 3B T, 26t A e 4 g9 WidT W | W A5 FES RIS
WA T, (S0 GTALE 3411 (i st 2

a4l 37 A, 2% s a4 B S W o RS o 2F0

oy

Y. Prove that ; 2
T L]

A B A

(stn-A + cosec AP | {cos A +secAF =7 + tanA + cot’A

Section—C

2(). Divide 3x>—a" — v+ 5 byx—1 —x~ and verify the division algerithm. 3

vm | —x2@ 32—y - dx = § % T T e ReTen AN e 9

I - P v+ 5@y — | —_n AR T b BE-L £ LR R ERgesh *1‘5.!?51% SO A Sl

71 For which values of p does:the pair of equations given below has unique

solution 7 )
p A [& AT IT TS F A TaNT A5 wEST s wwe

T B s oAy e e (57 49 SR R IR 1

4y + py+ B=10
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22, Find the roots of the followine equation :
CRER BT Lo E R R T

Mg Ahazreg = Ay 2@

It —5x+2=1()

23, If the following quadmlic equation has two equal roots, then find the valuc

of k.
of% wera TS SRSTIS X §BY S T, (@0 kT §F AT0 9 -

Fea figre sl foe 3@ v s wef ka wW Ry o

e kr+3=0
Orf‘ﬂ'fﬁﬂ'rmw

Find two consccutive positive integers, sum of whose squares is 365.
531 RS OIS Ty e BRTod! TR 4 UInTH 365

o T Ui apya S e I oieeR A snafE 365 |

24. The first term of an AP is 5 and last term is 45 and the sum is 300, Find the

number of terms and the common difference.

B! UMY AT AT A7 5, TSN o7 45 WE (W0=T 400; 0 47 AT W
W W89 AT & |

ofb ST 24w awy 4 5, WY o5 45 9w TR 400 | NI AR ST o
BI15-GM (EN/AS/BN) (New) 10
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25 1Fa line intersects sides AB and AC of 2 AABC m D and E respectively and

AR AE "
AB. AC

15 [jariullei lo BC, Prove that

U O9E @R AABC 3 AR UtF AC 757 =0 D 3% G feqe v a0 &TF

(R BC 9 THEA1T, 0T <507 ] 0 i@‘ = 'I’}'E-.
- oy ABT AL

ABC fagcem BC are8 W9r@as-aaf a4 5 AB 02 AC 312@ m0 D ax

AD_AE
;'.'LB g l'al{:.

F, [Tee (7 9 o0 S Fa
26. Find the area of the triangle formesl by the points A(5, 2). B(4, 7) and C(7, -4). K,
A(5.2), B4, T) A C(7, ) T @horg +aw fagate = [I8 F40 |

A(5. 2), B4, 7) a2 C(7. -4) f Tl arm ¥ Frgafen e e =0 |

27. A chord ol a circle of radius 1) cm subtends a right angle at the centre, Find

(he area of the corresponding minor segment. {Use x=3.14) 3

10 o855 TSR 67 399 SR R T A5 AN WA | W (7
ey ot ey o3t | (IR 3 = 3.14)

0 o sy 9o e a9 TN QTE 36 SN B W | S
et 7T wad o1 R | (r=13.14.6R)
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Section-D

28. The arca of a rectangle gets reduced by 9 square units, if its length 15
reduced by 5 units and breadth 1s increased by 3 units. If we increase the
length by 3 umits and breadth by 2 umits the area is increased by 67 squarc
units. Find the length and breadth of the rectangle.

a5 amved v (e S 23S T TF 4TS 3 94 e 341 T, (S 2R S
9 af 2ed 314 AU | Th TWR OUTF 3 93T T4 490 2 130 ¢fH 3 W (O
¢Tet 67 30 23T TF AT | WTSHR W T+ oy S8t |

TR 2P TS B S 299 M 2R oY 3 93T Ir 91 &Y, OR-ETIODe I
9 £3F TN M0 | Ae¢ Ul ™ 3 93T 4 ww 2 aFS Fn 6 T, T
a1l 67 37 93T 3% v | el B A o5 [y @t |

29. In an cquilateral tnangle, prove that three times the square of one side 15
equal to four imes the square of one of its altitudcs.

ANA I (T, 231 5530z Ay Sd BT 27T 97¢ fofiom O ooe Srfoq 374
FIROR S=77 |

oW WL (@, 2ED FH9= fagred 2o Im7 e o+ fagebe w3l Erfse
q+f¢ 5 OLT HR17 |

30. The shadow of a tower standing on a level ground is found to be 40 m
longer when the Sun’s altitude i1s 30° than when it is 60°. Find the height of
the tower. | -

TYNE STER 9o U W 121 95 s B U 8afS (357 @) 60° e

foare a1, 839 @M 30° 9 orote 40 Fhr cft A W | sEhn Swo
fAofT 30 |

2FF TGRS SRSFE R FOMRA 23 ST T T ST SRS

60° TH TS W2 © JrST 40 (B @ we vy e Safs @ 30° 1
FF5e oo Ay &=
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Al . - - ot | oo
31. Prove that the lengths of tangents drawn from an external poimnt to a circle

are equal. 4
I FA Q2 QT Fmq o7 I BAL voEfE (4144 DN A |

R A QU @ duy s ale coron quad Se arfen sfE QeET ST

wHA
Or/Amasra
Prove that the parallelogram circumsenbing a circle 1s a rthombus.

A S (U 951 GES =3 oql ANITICH OB 44 |

o9 @ld! (U, 9T U HEREE I qRETIE a9h a9 10 |

: 3
32. Construct a triangle similar to a given triangle ABC with its sides equal to 7
| . - 3
of the corresponding sides of the triangle ABC (i.c. of scale factor ) 4

a5 +mw frwe ABC 1 spits o5 fage il oo Tmm amw@e ABC

3 3
ﬁmmﬂmjwmmﬁnmmﬁ??n

aa% «=u faws ABC ¢ 571 23% foge @fter wrr qmorEn ABC fagrew

3
ri;,q AR %mt] | [WQ. scale factor Z) |
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Section - E

33, A 20 m deep well with diameter 7 m s dug and the earth from diggimg 1s

evenly spread out to form & platform 22 m by 14 m. Find the hetght ol the
. 2')‘
platl’nm':.‘ Take m = ==~

20 Gidrg @7 are 7 GBra amg ab ¢d Wi airg SR soe qEeE 22
Aldrg X 14 e (ong ool awd sye 39 Be | oo wdq Sl Fa

(22

Bz i th = ".J,--MJ

20 fiibra dite ge 7 @l anoia 2ol gant Yoo iR Jornl swwity afsto 22
iy % 14 i wrerE 92 w2 (Plarform) 4§ 39 wen | sy So@ fdu ol |

- 22 ]
(x- 2o

C

O /AT

A container, opened from the top and made up of a metal sheet, 1s in the
form of a frustum of a cone of height 16 cm with radii of its lower and
upper ends as 8 cm and 20 cm respectively. Find the cost of the milk which
can completely fill the container, at the rate of T 20 per hitre. (Take m = 3.14)

lﬁm.ﬁ.mnqzwaﬂmﬁhwﬂmﬁﬁmwmmaﬁn
werq WIF 9vad Givg arsd o 8 il @ 20 e | #f fEbraw 20 Ba

a0 el i Ararh! 4 2fadta fenra wap ofqe Ao F@ | (n = 3.14 #0)

afow M =g arglon g it wm gafdy Sz falb e | afba Swor
lﬁmﬁ:,WqﬁaWsmﬁam@ﬂammzoﬁﬁ | #fes feqbra

mwzommuﬁamqvﬁmmﬁm@ﬁmmm
suneam 435 [ @ 1 (n = 3.14 GR)
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34 The marks obtained by 30 swudents of Class X of a certain school in a
Mathematics paper consisting of 100 marks are presented in table below.
Find the mean of the marks obtaincd by the students.

Clm'i_:-; interval L) — 235 Eﬁ—iﬂj 40— 33 ':;5-- '.-'flr'F{Il-'FfS g5 — 100
.L[."n.ulrlhur of 5“1[‘[’3“[5-]_3 l _1,_ ‘ ','I'- £ | -6 | 6 |

GFH TERIG aam REren e 50 S ] 100 q5ed AEE

ATES QTS A T FRAE 9 TR | I SIS a4l 9 AT
A =41 |
Rregrive s

I_s:s T

ﬁ"ﬁ

0 - 3

-

@it el femerm, « o | REEn S S |
A% T WE Fo4 O MO HH | TORG 1 TEEs 9ET Wy TR

iJ]

— — — r—. e " —_— - —
i e 10—25)25— 40140 - 55 |55-7u 70 - B3] 85 — 100
U ERL L] 2 7 \ 6 _L 6 6

_ _ . L 5
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